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Candidates have been called for written test based on the data furnished by them in the online

application. If you do not possess the required qualification as per our advertisement, your candidature
will be summarily rejected.

2. 3o fo@em F F § ggel AT gA-qRdH Ud 3 O IR Seaw-Afe F R v argeei A
€T & UG of|

Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet
before start answering.

3. U-UH, 80 Al H WY GRA-YREaH & ¥ # §, oo Rawor Mg & aur udw weT 1 3@
¥ § oo wR eq §, et & o v fwer @wes ad ¢

The question paper is in the form of Question Booklet with 80 Objective type questions based on the
curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.
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Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen, only as per the instructions given in the OMR answer sheet.

5. Wi qfReas # & v vy W 3wl 39 A vd A o
Candidates should write their Name and Roll Number in the space provided in the Question Booklet.
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10.

4,

12.

13.

14.

15.

goaT T IeaT & & AT 3T T TF 37 v IR e v Rar S gl

A separate OMR sheet is provided for answering the questions.

it HTTHR Seak gReaa @ #le § Thet BT S W §, AT Ieall F HEA/AA FA
THT 3E GauE adr S aifRvl S sfaRed AR e yereT g S Sreef|

As the OMR answer sheet is being machine scanned, utmost care should be taken while handling /
bubbling answers. No spare OMR sheet will be provided.

magﬁmﬂ:aﬁ#aﬁmﬁw:ﬁamagﬁmaﬂgwslcmls)m‘raﬁmmmahzﬁ

A 71T T W R e el

Question Booklet Code (A/BI/CID/E) printed on the top right corner should be written in the
space provided in OMR Answer Sheet.

FeAE Yol 1 3 M L, 3k o & W YT 3% 3N T ek & A 0.33 HUMeA® 3| fomelt
TR H TH H IHUF Scck ITedd Ical Alell SAreer|

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong
answer. Multiple answers for a question will be treated as a wrong answer.
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TS T AT FS I Solagiad oe o AW A A el g Ifg & 81U s AT o 3op
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Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red
hand, they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal
action as deemed fit will be initiated against such Candidates. Instructions in this regard, already
published in our website may strictly be followed.

SeeT UF 3 3Teley T HT 3T T i F fow FAT I TR B

Space available in the Question Booklet can be used for rough work.

qiieT FATTT @ W, 3 TH HR 3eaw e A IW R v By Rl @ @R A 3w/
seer e PrldleTs =1 & A} & T g geeiide Wiy el s wr 1@ o 3 v W ofie
BIEd GAT IHATUF WU aal Teel

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at
the top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate
copy with candidates. Utmost care should be given while tearing the OMR Sheet.

I3t @ g @A @ & 916 Shael JUET gid Oise @1 AT Bl

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
TR & &g, SFREERT A 3 TH IR ek YRawT AR FEamia gau O THaEE H HT A
eI S el S yder 9 waets @ A8 afar &, 39 3w 3R e W Aediee & o
RraR 8 BT Swen| SaY O e R 3Ekedr & THaEs @ wiae S e sl 6 &

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will
not be considered for evaluation. Responsibility rests with the candidate to hand over the admit card to
the invigilator without fail.

3RS 39S TEROT & AT T & WA AW S0, it 3FEAeant H gl & fav Redr
F o gt RU 710§

The questions in English version alone will be taken as authentic though questions are given in Hindi
also for the convenience of the candidates.
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daeitelge ‘@Y (sAFeies dAadls)/
Technician ‘B’ (ELECTRONIC MECHANIC)

1_3 .
bX——=—x+10 geT &I
g TtV Ed

Solve 5x—~l=§x+10

2 2
(a) 4 (b) 6
() 3 d 5

AABC #, B W HHSIUT [3Mhfd 1], AB=4 Tl AC=8 @, Z/BAC feifia #i|

In AABC, right angled at B [Fig. 1], AB =4 cm, AC = 8 ¢m, determine ~BAC?

A
8
B
Fig. 1
(@ 30° (b)  45°
() 90° (d  60°

ar AT A IS A §l wEd Ap H B g@y oF A Bewr @ A @ ) s

AT T eI AT §?

Two cones have the same height. The radius of the first cone is thrice the radius

of the second cone. What is the ratio of their volumes?

@ 9:1 B 3:1
e 1:z28 d 1:9
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gfeTa WAEROT, 22% —5x +3 =0 & S5 AT H

Find the roots of the quadratic equation, 2x” —-5x +3 = 0.
3 3
e, 2 L=
() 2 (b) 5

3
- d -
(©) '3 (d)

bo |

If T FAER e F @R 6 FieT &, df sEnr IRAT 3§ yEhR eI I g,
If the diagonal of a square sheet is 6 m, its perimeter is given by,
() 386.15HT/m (b) 24.50#/m

(¢ 16.96#/m d 72.06F/m

Ra & AN Er IEET 10 Trer & 3afy F #ex 7500 AR F HeaT 3900 FY & IS F
=@ 39 & e ufawa FaAT FHr AuEr F

The population of lions in India is decreased from 7500 Nos. to 3900 Nos. over a

10 year period. Calculate the percentage decrease during this period.

(a) 48% (b) 54%
() 36% @ 27%
wm@mmﬁqﬁﬂmzﬁleo—sgzm%l Ig 200 #HeT o« & 3R

ST T 4 el &1 AR & gfekier & o w1

A cylindrical Aluminium wire has a resistivity of 2.82 x 10-8 Qm. It is 200 m long

with a diameter of 4 mm. Calculate the resistance of the wire.

(a) 0.252 Q () 0.449Q

(¢ 0.375Q (d 0.525 Q

4 776-TN(EM)



8. 3mfd 2 & QU v uRwy 7 yarfed awr Fd Hifw|

Find the current that flows in the circuit given in Fig. 2.

Fig. 2
(@) 3A b)) 2A
© 1A @ 4A

9. 3pid 3 & T 7T gRuy F 8 kQ UfeRitrF WX dieesT 31T AT |

Find the voltage drop across 8 kQ Resistor in the circuit given in Fig. 3.

8kQ
6kQ
MM -
20kQ
1 L MM %
__: 5kQ
15V 10kQ
4 Fig.3 v
(@ 05V (b)) 12V
(¢ 0.75 d 10V

A 5 776-TN(EM)




10.  &1q Ao I Areheg ¢,

11.

Conductance of a metal conductor is,

(a) mﬁmmméaﬂmma?m%@m@wwﬁllnversely

proportional to the length of the conductor and area of cross-section of the

conductor

(b) Wﬁﬁé%%%ﬁ%%ﬁmm%ﬁw%
SIhHTYTC / Directly proportional to the length of the conductor and
inversely proportional to the area of cross-section of the conductor

© Wﬁﬁé%?ﬂm@mmw%mmﬁma:m
AT / Inversely proportional to the length of the conductor and directly

proportional to the area cross-section of the conductor

() mﬁmmma:muma;ma:mmmmﬂy

proportional to the length of the conductor and area of cross-section of the

conductor

m%mWﬁIRﬁqwﬁwﬁmﬁmmm@ww%m&

The algebraic sign of IR drop in Kirchhoffs Voltage Law is mainly dependant on
the,

@ I 3R R & A / Value of I and R
(b) S FAFT / Battery connection

© 38 AEIH ¥ vailRd @y ardr awr & f&2 / Direction of current flowing

through it

(d) ST areest / Junction voltages

6 776-TN(EM)



12.

13.

14.

TS WISIHISsS Jearddl URT 1 Hf&hcad URT 7 20A 3R 3mafeq 50 Hz ¥ 9ger I%
& fT 7T ¥ YF @R GRT A 10A T Igd F kel T8I Forem §2
A sinusoidal alternating current has a peak current value of 20A and a frequency

of 50 Hz. How long it takes the current to reach 10A, starting from zero, for the
first cycle?

1 . 1 ;
(a) m m / sec (b) % m / sec
© — ¥ e @ —— & ]see |
500 700 |

Ife Teie &9 0.06 m? dTel FHRICR Tole HEMRA T aRar # 0.056 m e & a1y
Widegd § AT 3EA HART 3Mder 8.854 ppc §, A sHH Tl F i [FHAIR FAU
grem?

€0=8.854x 1012 F/m of

If the capacitance of a parallel plate capacitor having plate area 0.05 m?2 has air
dielectric of thickness 0.05 m and the charge stored in it is 8.854 puc, then what
will be the potential difference across it’s plates?

Take € = 8.854 x 1012 F/m

(a) 05V ® 15V
(¢ 0.75V (d 1.0V

3egaTe @k & IS afed Ngt w, s 3fean ar A9 F Hat F anr A 5w
YR fem Sirer &,

At half power points of a resonance curve, the current value in terms of it’s
maximum current value is given by,

(2) 3RIFaH arT FT V2 AT/ V2 times the maximum current

i 1 :
(b) HFAH URT FT — AT/ —— times the maximum current
NCREN

(c) 3if¥as arr &1 % AT/ % times the maximum current

(d) HTEHaH URT FH 2 T / 2 times the maximum current

7 776-TN(EM)




15.

1.

e & @ Fia @1 nfaes & fow @ 87
Which of the following holds good for a semiconductor?

(2) T §3 AR doF d9F TE gEY A eted #d § / Conduction bands and
Valence bands overlap each other

(b) ST HYEEE & TERAS UM A deeld & / Dopants alter the chemical
properties of a semiconductor

(c) Tl IYEAT SerFeld Higedl 1 Sercll § 3R grar 3Rgar &g digdr & serd & /

Acceptor impurity increases electron concentration and donor impurity

increases hole concentration
(d) 3T T ATelhdl dOHAT o A dedl ¢ / Conductivity of semiconductor

increases with temperature

T FAER ¢ges iehe # 5 Q & ufadier, 500 pH &7 WRevead 3R 50 nF T emiar |

g5 e &1 dsfagy Ard Y|

A parallel tuned circuit has Resistance of 5 Q, Inductance of 500 pH and

Capacitance of 50 nF. Find the Bandwidth of the tuned circuit

(a) 20 Hz
(b) 25Hz
(¢ bHbHz
(d) 40 Hz

8 776-TN(EM)



17.

18.

19.

3P 4 # U 71w @fébe &, Vz =12V 3R 240 mW & 3fsras qrex IRer arar oo
SIS 1 3UART Uk =X alis & 12 V & [faf@d diees ver s & e = s
¢, IR e dieest 48V &, aF 3maeas H@er wfogd R A HY

In the circuit given in Fig. 4, a Zener diode with Vz = 12 V and maximum power

rating of 240 mW is used to provide a regulated voltage of 12 V to a variable load,
if input voltage is 48 V, Find the series resistor ‘R’ required.

R
Fig. 4
(a) 300Q (b) 200Q

© 1500 @ 250Q

Th GTeR EREGIR F 150 TeAd oo 3R 450 A3 oF §1 Gor o5 e H, o
T 5 A § 3R Wl dleest 25 V B WHsY diecsT H 9aT o]

A power transformer has 150 primary turns and 450 secondary turns. At Full
load condition, the primary current is 5 A and the primary voltage is 25 V. Find
the secondary voltage.

(@ 150V (b)y 45V
(© 200V (d 75V

UF JfAder Basd e SR & gl R geeld Sgae® aed & &7 HF g §
T T,

An Unipolar device that has electrons as majority carriers on both sides of the
junction is,

(a) SIeX 3MAE / Zener diode (b) el 3™AE / Tunnel diode

(c) elfedhr s/E / Schottky diode (d) T sEE / PIN diode

9 776-TN(EM)



20.

21

22.

DC 15 @8 Veg (vs) L & fdenis & REw A a1 &Y 3afa 5 ) 1
Find the peak value of the co-ordinates of the DC load line V¢ (vs) I.. Refer

Fig. 5.
20kQ
I/P
.|_ T 40V
Ve '
Fig. 5
|
|
(@ 20V,1mA (b) 40V, 2 mA
(¢ 10V,1mA (d) 10V, 2 mA

U& Hfhe 1 100 kHz @ 3mgfed X 900 nQ & Se wfdard i Jaedshdr giar &1 Igr
T ORehcd HIeT $T TTRTFRAT &7

A circuit requires as inductive reactance of 900 ntQ at a frequency of 100 kHz.

What inductance value is needed here?

(a) 9mH ®) 3.75 mH
(¢ 12mH (d 4.5mH

ATSHIhIShd H Tedce & dod AT Idell Thed WX @IS Hfhe Yoo ol & folT
IO 7 S arelr UiRaT @7 el S g,

The process used in microfabrication to create required circuit patterns on the

bulk of a substrate or on a thin film is termed as,
(a) ¥ / Sputtering

(b) wreiferaamdr / Photolithography

(c) TUfer / Etching

() =fEHer / Masking

10 776-TN(EM)



23.

24.

25.

forstell 3Tt 7 oRer R gHe AT §
The ripple factor of a power supply is a measure of its

(a) drex ST / Power rating
() 3f¥Fae di=r = e / Maximum current drawn
(c) 3M3CYC Uiy Y& / Output power purity

(d) seqe wfdsrem / Input impedance

P8 TFIeeRR & 360° el & fow DC dig osd (Veg, ) & &g & ug aid
Rig ¥?

Which amplifier has the Quiescent point located at the centre of the DC load line
(Vcg, L) for 360° conduction?

(a) @I AB / Class AB (b) @I A/ Class A

(¢ g B/ Class B (d FF C/ Class C

FrAfEs LC elesh IRaY & areal i gfea TR & §
The frequency of oscillations of an elementary LC oscillatory circuit depends on

(a) FseT IieRIE 3R 9 / Coil Resistance and Inductance
(b) F3eT UTRTE, Wehica 3T &mRar / Coil Resistance, Inductance and Capacitance
(¢) Fser gferier 3R emR@ar / Coil Resistance and Capacitance

(d) Hsel Wehea 3R e1kar / Coil Inductance and Capacitance

11 776-TN(EM)




26.

27.

i 6 7 aiwy Hefaf@d aRoy & gfafafer &

The circuit in Fig. 6 is a representative of the following circuit

oe-f —>0

MW

B

Fig. 6

BiEe— & —%&

(a) W FR IRIY / Simple clipper circuit

(b) T IFewrR 9RTY / Simple Rectifier circuit

(c) TIT fheer Ry / Simple Filter circuit

(d) @ FoleX 99 / Simple Clamper circuit

e QT 90 Op-amp IRUY &, AP 7, 3M3cqe dlecst (Vo) AT H|

In the Op-amp circuit given below, Fig.7, find the output voltage (Vo).

Ry =5kQ, R,=10kQ

V=4V, V,=5V

@ 1V

© -2V

v o ML AW

R1 R2

Vv, 0 Vo
Fig.7
®d 9V
@ 2V
12 776-TN(EM)



28.

20.

30.

31.

555 AT IC IRUY & YR W TS TFeTd Hocldssied &l AT fRar srar &, ofEr
R1=1kQ, Rs=10kQ, C=0.1 uF. 3M3eYe qawis H1 37T Asfae T §7?
An Astable Multivibrator is realized based on 555 Timer IC circuit, where,

Ri =1 kQ, R = 10 kQ, C = 0.1 pF. What is the duty cycle of the output
waveform?

(a) 62.5% (b) 45.5%
(0 52.4% (d) 38.6%

ol I 3 dt W B & ded 7 sgad b S g
Battery rating is generally expressed in terms of,

(a) TFRMIR 9fed ger / Ampere per Hour

(b) TFIRR ®er / Ampere Hour

(c) drc ger / Watt Hour

(d) St i "er / Joules per Hour

3T oS MaRghdisi el e vl & fav gedr g gram & fow #la @
Which safety devices are preferred for earth fault protection for industrial
applications having higher load requirements?

(a) THEEr / MCB () FIREEEr / RCCB
(¢ wgst / Fuse (d sueEr / ELCB

HAecldel &I TdeaAferdr o 30 YR URNT Far S §,

The Sensitivity of a Multimeter is defined as,

(@ 9oT AT fG&0r & 9fd dlec @) fGar S arem UfeRTer / Resistance offered per
volt of Full Scale Deflection

(b) quT AT f3aiqor & ufq diee 9 @iEar S aremr ae / Current drawn per volt of
Full Scale Deflection

(©) @mﬁ%%ﬁﬁwﬁmmwmﬁmmmﬂ/

Resistance offered per volt of Full Scale Deflection per unit time

() 9uT A9 fEEmer & ufy diec W T S dtem S Ui S @AY / Current

drawn per volt of Full Scale Deflection per unit time

13 776-TN(EM)




32.

33.

34.

<5 deior HUS & 13T dreeAey F RREr gfadvs § ST S &, ar Hel ga’n A
aﬁmaﬁﬂmﬁwmﬁmﬁw@mhﬁmﬁmwﬁ@ﬁm&

When a voltmeter is connected across a resistor to measure voltage, the voltage
measured by the meter is generally lesser than the actual value. This is due to
the,

(a) Hrex HT FH Tagaderdr / Reduced sensitivity of the meter

(b) FieX & 3d geqe wiady / Higher input resistance of the meter

(¢ FreX @1 i g / Loading effect of the meter

(d) el MeX FoF & FROT AN gfaRrer &1 sear / Addition of stray resistance

due to external meter connection

a8 & TH Op-amp qftayr @ TR §, el seqe dleest Vi =25 sin 2 [Ift %
for@s =10 Hz, ﬁ{@mqﬁﬁaRzlkgﬁt%ﬂﬁéﬂ C =8 uF & 3m3ege deest Vo
¥ Rw a1 g2

Fig. 8 shows an Op-amp circuit, where input voltage Vi = 25 sin 2 TIft with

f = 10 Hz, series resistance R = 1 kQ and Capacitance C = 8 pF. What is the
expression for output voltage Vo?

\?:__lci—__/v\l:\/\_—_

B L—o Vg
Fig.8
(a) micos 2wi—1} ®) —m{cos 207wt —1}
(¢ —4m{cos 20mwt—1} (d)  +4n{cos 207t -1}

Wi@g@ﬁﬂqﬂéﬁwmo.MmmN%imwﬁmﬁmﬁﬁwmov
ST ST &, o Tie F g aTel sgard Al A

The deflection sensitivity of a Cathode Ray Tube is 0.01 mm/V. Find the shift
produced in the spot when 400 V is applied to it’s vertical plates?

(&) 4mm (b) 1.25 mm
() 2mm (d 7.5mm
14 776-TN(EM)

i



35.

36.

At

FedAiAey fFa Rgia W Fe =a &7

Galvanometers work on the principle of,
(a) SoFeEcead g5 / Electrostatic induction

(b) ESelFgrTAfeH g% / Electromagnetic induction
(¢) Ufee werg / Peltier effect

(d) lFges yag / Compton effect

dleser gfshar # AT/ Feldq &1 39ANT WAl RO & Far sirar g

The use of rosin flux in soldering process is attributed to the following reasons.

(a) Wesfar yfhar & 9 9GS & Far o Tl & / Cleaning after soldering
process can be avoided

(b) TesRIT IUETHd HH AIART W H ST FHl & / Soldering can be carried out
at relatively lower temperatures

(c) TeIoFH Acg IX 1SS Wl & fIU Tk &HF FXel arel ol & &9 7 HF Har & /
Flux acts as a reducing agent for oxide layers on the surface

(d) elFd HIesRI & HROT SEdel YU @l HA Al ¢ / Flux minimizes poisonous

fumes due to soldering

TFTelieys Alggerrel giafaes & o 20 MHz &1 dsfasy 3ueretr §| ags & Alsgec
S & TIT ITAET Y S arell iftiehcsr 3ifsar feeter amgfca 20 kHz & 31w =1gr
gl TilRT] 3@ I35 & MR Us WY fhde TUe UH g & WY gEasl fRu f{er
THROT FT Hh §7

A Bandwidth of 20 MHz is available for Amplitude Modulation transmission.
The maximum audio signal frequency used for modulating the carrier is not to be

exceed 20kHz. How many stations can broadcast within this band
simultaneously without interfering with each other?

(a) 750 () 500
() 250 d 175

15 776-TN(EM)




38. IEfa 9 ¥ MY T v Rvs ING F qe$ 7S AHHAT F AH TATT

Name the process represented in the block diagram below in Fig 9.

Local
Oscillator

Fig. 9
(a) 3mgfea feAfsgeRe / Frequency demodulation
(b) 3 BAgYeRE / Amplitude demodulation
() gerErafeer fmar / Heterodyning action

(d) ofFa TUEeRoT / Power transfer

39. Pl 10 # fw 1w yelieh 1 gt

Identify the symbol given in Fig. 10.

>

Fig.10

(a) 9ifedhr 3rE / Schottky diode
(b) WA 3cHoih 31ATE / Light emitting diode
() NeFex s[@E / Varactor diode

(d PIN s / PIN diode

A 16 776-TN(EM)



40. 3BT 11 # A Gu 1w wihe @1 S Far g2
What is the function of the circuit given below in Fig. 11?

41.

42.

Vi L T -

Fig.11

(a) o3 9 fheeX / Band Pass Filter (b) & 9 fheeX / Low Pass Filter

©

3 TeT heeX / Band stop Filter  (d) 3T 9¥ fhecX / High Pass Filter

e farsw o amgpfar 12 & fam srar PNPN fasior 872
Which device has the PNPN construction given in Fig. 12?

(a)
(b)
(©
(d)

T Anode
P
N

Go— p

N
é’ Cathode
Fig.12

gi& / Triac

faforepra faf3a YeewrR / Silicon Controlled Rectifier

fafesia Faf¥a f&aa / Silicon Controlled switch

ggeles e Hres gihee gifoiee? / Insulated Gate Field Effect Transistor

AT TN & TR T TrATHE HROT F47 g2

What is the primary reason for propagation of sky waves?
(a)
(b)
(c)
(d)

qedr &I Wefg ¥ qace / Reflection from earth’s surface
IAASH §aRT 39dce / Refraction by ionosphere
arem3t & °RT 3R fdader / Diffraction around obstacles
&IHHSH gaRT 3aNWeT / Absorption by troposphere

17 776-TN(EM)




45, ow et Fegits Ruwe & S0 R A T & PR S €

Increasing the duty cycle of a pulse width modulated signal will cause the

following effects

(a) Toeeter o1 A dlecst gart / Increase the average voltage of the signal
(b) foaTer &0 AEd areest merd / Decrease the average voltage of the signal
(© Faeerer &1 3mgfed get¥ | Decrease the frequency of signal

@ 3ad deest A 1% gfade 76 / No change in the average voltage

44. w@m‘@gﬁmoﬁ%msﬂ@rm%m%lzﬁrsﬂﬁﬂamﬁwwﬁﬁ
aﬂﬁr%,aﬁmaﬁggasaia@a@ﬂmaﬁrmam

A solenoid has 500 turns and a length of 20 cm. If a current of 3 A flows through

it, calculate the magnetic field inside the solenoid?

() 5.43x105T . @) 4.16x103T

© 9.42x103T y Baexi0eT

A
45. 0——43——- g% udie gTdr &1

B C

A
The logic symbol :D_— represents,
. B C

(ay C=A®B ® C=A+B

© C=A4AB @ C=A®B
A 18 776-TN(EM)
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46. aifeer 1 & g difoe dic & T arfdsr yEieg g2

Which logic gate has the truth table listed in Table 1?

(a)
(b)
()
(d)

Table 1
A|B|C
0|00
0(1 |1
Ln | I
I

OR J1c / OR gate

NOR 7€ / NOR gate
NAND 3tc/ NAND gate

wFaeFead OR 1€ / Exclusive OR GATE

47. EHRY 13 F AfoE sdls INW M I13CYE C AT H

Find the output C of the logic block diagram in Fig. 13.

(a)
(b)
(©
@

Ao
D
B o—0—]
Co—]
Fig.13
D=A+BC
D=ABC
D=AB+0)
D=A+B+C
19
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48.

49.

50.

51.

oid CLEAR (CLR) g9 &fshar gIaT &, ol eld Fellq & 3M3TYT &7 F4T grar £2

What happens to the output of the Flip Flop when the CLEAR (CLR) input is
active?

(a) 3M3eYe 0 W &< AT Aar § / Output is set to 0
(b) 3m3ege 0 W I8¢ fomar Sirar § / Output is reset to 0
() 3m3eqe efarel / Output toggles

(d) 3m3eqe 3qRafdd @dr & / Output remains unchanged

i AT TFelT Fellg I ST F g6 8272
Which Flip Flop is related to ‘race condition’?
(a) JK TFea warg / JK Flip Flop (b) D & Fara / D Flip Flop

(¢ RS T¥ag warg / RS Flip Flop ( T 9 wara / T Flip Flop

4-T9C SISr HI3eT HT AWS AT §2
What is the modulus of a 4-bit binary counter?

(a) 16 (b) 32
(c) 8 @ 4

HREe-ga1, @iftge-3m3e (SISO) Rive Ifeiwey &, 2er var gar ¥ &,

In a Serial-In, Serial-Out (SISO) shift register, data is such that the,

(a) $T9c 3R 3M3eYe FAGICR &I & / Input and output are in parallel

(b) 9 HRIT F 3R 3M3eYe FARAGR F & & / Input in serial and output in
parallel _

(©) FTYe FARR & 3N 3m3eqye AT F @1d & / Input in parallel and output in

serial

(@) Fe9e IR 3MFeqe @RI # g7 § / Input and output are in serial
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52.

53.

54.

55.

e AT 10.011 &7 SHAAT FAGED © -
The decimal equivalent of the binary value 10.0112 1s

(a) 4.0235 (b) 1.0175
(¢ 3.0375 d  2.0135

2.75 V &I TaATalal diecsl 8- TATel-g-Bioce Fefady W aemr e g, 5@t o &
5V &I qUT Fohet Tof Bl 1 Jftehca Faifearere Ife o1 87

An analog voltage of 2.75 V is applied to an 8-bit Analog-to-Digital Converter,

having a full scale range of 0 to 5 V. What is the maximum quantization error?

(a) 7.245mV ()  9.765 mV
(¢ 5.172mV (d) 6.452 mV
AT E CaRT goiqe fHaeter & =el 1 il iR e 82

Which determines the selection of input signal by a multiplexer?

(a) el @97l / The clock signal

(b) 3m3eqe f@3sAel / The output signal
() TIeT e / The select signal

(d) fstelr & 3mqfd / The power supply

N-dster JFET & forw, Inss =4 mA, Vp=—-2 V. Vgs = 0V 8 W giEehsaed §r
ATEAT Y|

For an N-channel JFET, Ipss = 4mA, Vp = -2 V. Calculate Transconductance
when Vgs =0 V?

(a) —4ms b)) —8ms

() —5ms (d —10ms
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56. N—WWH%MOSFET%qﬁﬁHﬂfaﬁq@mﬁsﬂmmmﬁ,

The positive gate operation of an N-Channel Depletion Mode MOSFET is known

as,

(a) Tt A1z / Depletion mode

() TfFea A/ Active mode

() TeRiHT sirg / Enhancement mode

(d) TgEHT 3f=ar @ / Enhancement only mode

57. memﬁwmﬁm,mwﬂwmmm
foy, Rasw # *T,
After firing a Silicon Controlled Rectifier device, the gating pulse 1s removed.

Then, the current in the device will,

(@) €@R-ER FW % 3K R g & Seen / Rises up slowly and then falls to
ZET0

() o= §IN 334 / Rises up quickly
() & o / Remains the same

@) T LTH & s / Immediately falls to zero

58. mrﬁﬂﬁgaﬁﬁﬁwﬁﬁﬁvm%mmmﬁmm%?
Which device is used to convert light energy into electrical energy?
(a) SISl scae® sae (LED)/ Light Emitting Diode (LED)
(b) oo SRS / Laser diode —
(c) e Bresl / Optical Fibre

@ et = @E / Photodiode
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59.

60.

61.

62.

TASET (TSI 3cHolsh SME) & AT & fOT cu9s & & 39T $r Sy arer arHa &
Material used widely for the manufacture of LEDs (Light Emitting Diodes) are

(a) sfEgs dfogs asess / Indium Gallium Nitride
(b) TegHITA 3HiFERES / Aluminium Oxide

(¢) SH@TH / Germanium

(d) Faforepier / Silicon

R ¥ W d-Ruafdea Ffs &1 qEa &1 §,

The main function of an anti-reflective coating on a solar cell is to,
(a) 3HTF Foieciel 3cded aXell / Generate more electrons

(b) ER el F el § @l / Protect solar cell from damage

(c) JHT 39cTT FI oIl / Increase heat dissipation

(d) uehrer gfafdad & & & / Reduce light reflection

diecsl TS & 3TN AFTai@d SRl & forar sirar g

A Voltage Stabilizer is used for the following reasons.

(a) YchIadl dlecel @ kel diecs] H URdfdd @XaT / To convert alternating

voltage to direct voltage

(b) Ffhe & ote F1 7 T / To reduce current in the circuit

(¢) TR 3M3cye dledst &AT e / To maintain a constant output voltage

(d) ge9e @oelrg &I 3Mgfcd H dgrlr / To increase the frequency of input supply

waraer TV e & Bfeed TV @edaa & deas I ufssar & T 3madk o seaard
fRaT S ITelT 2Teg HEoldT g,

The term commonly used for the process of conversion of analog TV signals to
digital TV signals is called,

(a) fsfSersaersT / Digitization (b) fEATEIR / Demodulation
(¢) HiggeT / Modulation (d) geUsEie / Heterodyning
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63. mmamﬁﬁwﬁwﬁg@mmmgﬁwmmﬁ%mm%
e,

The primary advantage of Insulated Gate Bipolar Transistors over Bipolar

Junction transistors is their,

(a) @ TEafder #iig / Lower switching losses

(b) &H dieest gia / Lower Voltage drops

(© 3FTTHC o S @ &Aar / Higher current carrying capabilities

(@) 3T geIqe JfasTer / Higher input impedance

64. %ﬁwﬁg&ﬁammnﬁwmmﬁ?
Which is the basic type of digital modulation?
(a) thol #ASgeY / Phase Modulation
(b) P Agger / Frequency Modulation
© uFIdegs Riwe HSI / Amplitude Shift Keying

) TEIEegg AR / Amplitude Modulation

65. ﬁmﬁ‘@accwmﬁﬂﬁﬂmmﬁmaawmﬁmm%?

Among the following CCTV camera, which one helps for remote control of

direction?

(a) = &H#AU / Dome camera

() Ya-fec-3fH He / Pan-Tilt-Zoom Camera
(¢ Trees %0 / Fixed Camera

(d) ol HFET/ Bullet Camera
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66. BRI 3 RTeH # Us-3ih-asa I{Te &1 39997 Far o g,
An End-of Line Resistor is used in Fire Alarm Systems to,
(a) @fhe A& Ul e & v / Provide circuit supervision
(b) 3reE €afe F TG & T / Amplify alarm sound
(c) dlecst Sgle & folw / Increase voltage

(d) T HH 6T & ToT / Decrease current

67. fefeas foreee f3ecel Colifaste H @aH 9 ®F ¥ 39T HT A dTell dhellsT g,
The backlight most widely employed in Liquid Crystal Display Televisions is,
(a) dmUEred §ed / Incandescent bulbs
(b) dFgA <J / Vacuum tubes
(¢) <ok 3/ / Laser diodes

(d) 9T 3cToteh s/s / Light Emitting diodes

68. DC #eX & Fryeex &l &I I 7T 57
What is the main function of Commutator in a DC motor?

(a) YD & IcUedl A & o0 / To generate a magnetic field

(b) VX HseT H & 3T TFH H e Pl 3elead & fow / To reverse current in
rotor coils every half a revolution

(¢) HIex &1 afa & T &= & v / To control the speed of motor

(d) WX A e & O T&d TEAT wed A & faw / To provide a path for current

to the rotor
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69. wmﬁmmﬂw%@ra&wmqﬁaﬁaﬂtmmmﬁmwww
e e 240 s & IS R @ A A & R B St ¥ we Fda
OTAT |
A radar system is used to measure 2 round trip time of 240 us using a radar

pulse to reach at a target and then return back. Calculate the range of the

target?
(2) 36 T / km () 18 T /km
(¢ 24T /km (@ 42 feHAr /km

70. DCaﬁmﬁﬁmwﬂmﬂamﬁrﬁ FiTeh,
Graphite brushes are preferred in DC Torque motors to,
(a) TP 87T 3ol A / Generate ;a magnetic filed
(o) T P GHET ST F ST HA Cool the motor effectively
(¢ Frex & aifa 1 @R HET / Control the speed of the motor

d) FFIX =1 FH T9uT yered &4 / Provide a low friction to the commutator

71, AT #F HEAR W RraEd geh 8 €,
An Optocoupler typically contains the following components,

(@) ufadiers 3R Furia / Resistor and Capacitor
b) =¥ 3R grEweER / Inductor and Transformer
() eI 3c8eis SIS 3R ®reteriE / Light Emitting Diode and Photodiode

() et 3R srs / Transistor and Diode
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2.

73.

74.

Hasd §aR § GSM &1 &47 3719 §7

" What does GSM stands for in Mobile Communication?

(a) 133 WA HIgYeT / Ground Service Module
() HAEEd & o df9gs gumelr / Global System for Mobiles
(c) Infherw {¥ed AANY / Graphics System Memory

(d) Im38 T 9aUT / Ground Station Management

T ol AT & A B 5.0 §1 T HUA HeT e 100 Q ¥ 0.5 Q & wfaer 7
IREdeT FT T HXA &l T AT A0 H

A Strain Gauge has a Gauge Factor of 5.0. It experiences a change in resistance

of 0.5 Q from it’s original resistance of 100 Q. Calculate the strain.
(a) 100 pQ d«Irg / strain -

(b) 1000 pQ a=Ig / strain

(¢) 10 pQ d«rg / strain

(d) 900 pQ da1a / strain

yFferTer Fr uafhar T6T 5T TeeT & AT AT g2
The response time of a Thermocouple is measured in terms of,

(a) &ffore wfafshar / Transient response
(b) 37eg / Half life

(¢ TEdiever a7 / Settling time

(d) THT e / Time constant
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75. LVDT ({f@® =X fased gawei) & 3R @ afde g &,
An LVDT (Linear Variable Differential Transformer) typically consists of,
(a) UH UHA Hso AR TH JIDrd #X / A Single coil and a Magnetic core
(b) a Fsel IR gfeRes ded / Two coils and resistive element

(¢ TS wAfAE Fsod, A glads Ssel 3R wed TT FR / A Primary coil, two
Secondary coils and a Movable core
(d) & wraffs Fsd, & gadae Fsel 3R TH e &R / Two Primary Coils, Two

Secondary coils and a Magnetic core

76. WOp-ampﬁ220dB$rﬁﬁﬂ$ﬂTﬂ3ﬂT110dB$rWFﬂ§ﬁTHm%’l dB #

T A 3G A (CMRR) A1 |

An Op-amp has a differential gain of 220 dB and a common mode gain of 110 dB.
Find Common Mode Rejection Ration (CMRR) in dB?

(@ 6dB (b) 4dB
¢ 8dB (d 10dB

77. SR aEe BEeel (RTD) ddaT &t &8 Adr g7
How does Resistance Temperature Detector (RTD) measures Temperature?

(a) 3TEHAET I3l GaRT 3ot dleest & #AgeY / By measuring the voltage
generated by dissimilar metals

() e arg & gfade 7 qRadeT @7 #A9a / By measuring the change in
resistance of a metal

(c) d&J @I IcOTST 3avad RAEUT @ AMEX / By measuring the infrared

radiation emitted by the object
@ frdr gerd $r aiar & gRade @ AMeX / By measuring the change in

capacitance of a material
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78. S A 14 F gifoer aRwY & faw, Fewet Fie, Ie A H|

‘For the Transistor circuit in Fig. 14 below, find the Collector Current, Ic.

2.5kQ Ve

(a) 4 mA ® 6mA
© 2.5mA @ 8SmA

79. S HgeX §¢ g A & af RAM & HIEa 87 &1 &7 gar 87
What happens to the data stored in RAM when the computer is turned OFF?
(a) 3T &8 3139 & Tgoll Siarl & / Data is saved to hard drive
(b) ST AANT F FAATC Y@ 1T & / Data is retained in memory
(¢) 3er CPU & o ST Srar § / Data is moved to CPU

(d) Ser TRl ®9 & ger fGar Sar § / Data is permanently deleted

80. mmmﬁ,mﬁmawmﬁmwm

In which network topology, does each device connect directly to every other

device?
(a) 9 Crrars / Bus topology (b)  Her IS / Mesh topology
(¢) ¥R Trarelis / Star topology (d) W adrerst / Ring topology
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